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Decomposition of the joint:
P(Y,X1,..,Xn) = P(Y)�iP(Xi,|Y, X1,..,Xi-1) //by the chain rule

= P(Y)�iP(Xi,|Y) // by the N-BN assumption
2n+1 parameteres!

Diagnostic inference:
P(Y|xi1,..,xik) = P(Y)�jP(xij,|Y) / P(xi1,..,xik)

If Y is binary, then the oddsIf Y is binary, then the odds
P(Y=1|xi1,..,xik) / P(Y=0|xi1,..,xik)  = P(Y=1)/P(Y=0) �j P(xij,|Y=1) / P(xij,|Y=0)
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More variables � increased chance of redundancy!
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1. Choose an ordering of variables X1, … ,Xn
2. For i = 1 to n

add Xi to the network
select parents from X1, … ,Xi-1 such that

P (Xi | Parents(Xi)) = P (Xi | X1, ... Xi-1)



10/30/2013A.I. 16



http://redmine.genagrid.eu/projects/bayescubedownload/wiki/Wiki
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